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Time, Speed and Distance

21. Two trains are running on parallel lines in  21. @ Yamf¥al ww= R=n & www: 40
the same direction at speeds of 40 km/h 'Mmaahzzoﬁnﬂmauﬁnﬁﬁ
and 20 km/h respectively. The faster train waHTaR vefval o e vt §1 s nfa areht

crosses a man in the second train in 36 YIS W YS! # A3 UW wfd B 36
seconds. The length of the faster train is ? APE ¥ UR $T Wt g1 dw ufa areh

E e i S
a. 100 m :%Xé__x% a. 100 Hiex
b. 120 m /)% b. 120 #Hiex F,
c. 150 m e c. 150 #iex l‘]DtMIL,
d. None of these o d. T8 @ B¢ T8
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Time, Speed and Distance

2AMA= 2 1x 18 kM{h=3S kML

22. A train nquim7scgndsto >
while it requires 25 seconds to cross a
stationary train which is 378 m long. Find

the speed of the train in km/h.
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a. 72 km/h s
b. 73.5 km/h 3'},(.\.)(_“_?—‘— i S
S6km/h 7

d. Nomofﬂtm_;’_xz?_&—t?X = 2\ ¥
d;"xi}%:
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Time, Speed and Distance
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23. Two trains pass each other on parallel 23.3’”‘&'1%‘0' 1+

lines. Each train is 100 meters long. When
they are going in the same direction, the
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UR HXA 1 wd® Yot 100 Hiew @t
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faster one takes 60 sec to pass the other ﬂfamWﬁmWﬁW
train completely. If they are going in UR A H 60 AT F1 WHY TaT 81 U}
opposite directions they pass each other AfRfa Rumat A @R A10AFz A
completely in ms.c.mdunsp«dow@w}g@m%WMtlm
the slower train in km/h. ———— YamE #1 nfa fFftder & ya S
< ) o) 44—t |w,\7w‘>
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d. None of these d. §79 | #1¢ 781 0™
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Time, Speed and Distance

25. A boat goes 40 km upstream in 8 hours and 25. U® -1d 8 We # URT & wfaga 40 &

a distance of 49 km downstream in 7 hours. AR w1 & g 7 w2 & 49 ekt it gt

The speed of the boat in still water is ? ek TG ARG Bk aRICE f &
a. 8 kmy/h asfelfie ;iﬁzgmlh
b. 10 km/h b. 10 &l der N

& hm/m

d. None of these
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26. The speed of the boat in still wateris 12 26. ¥Iid && & =@ # 7fy 12 /e # ok
km/h and the speed of the stream is 2 urT @ ify 2 faeh ﬁlmtnﬂqm
km/h. A distance of 8 km going upstream 8 frht ¥t g aq & et 2
is covered in

=22 o e

a. 32 min a. 32 e A
\)4::.\ pcasfired [ - X I
c. 52 min c.52 fime <
d. None of these dEFHABETH Y )l:é_g |
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THANK YOU!



